GENUINE GRACO PARTS AND ACCESSORIES (\
Y 4

GRACO

Roller Guide Kits 406743E

EN

Roller Bracket Repair Kit: 218591
Cabinet Mounting Kit: 15Y478
Cord Reel Roller Bracket Repair Kit: 24N897

Important Safety Instructions
Read all warnings and instructions in this manual and the LD, SD, and XD Series Hose Reel manual, XD30
Series High Capacity Hose Reel manual or Cord Reel Instruction manual. Save these instructions.

Roller Bracket Repair: 218591 Cord Reel Roller Bracket Repair Kit:

Ref Description Qty 24N897

1 BRACKET, hose guide 1 .

24 SCREW, #10 - 32 x 3/4” 4 Ref Description Qty

2t SCREW, M6 x1.0x20 4 1 BRACKET, cord guide 1

3 ROLLER, hose 4 2 SCREW, cap, button head, MG x 20 4

4  PIN, roller 4 3 ROLLER, cord 4

5  NUT, lock, #10 - 32 (not shown) 4 4 PIN, roller 4
5 NUT, lock, #10 - 32 (not shown) 4

Cabinet Mounting Kit: 15Y478

Ref Description Qty
1 BRACKET, hose guide

2« SCREW, #10 - 32 x 3/4”
ROLLER, hose

PIN, roller

NUT, lock, #10 - 32 (not shown)
TEMPLATE, mounting (page 2)

S NG N NG NG

ok~ w

< Used with 250/350/500 Series Hose Reels only. (Not shown)
1 Used with LD, SD, and XD Series Hose Reels only.

1i13005a

PROVEN QUALITY. LEADING TECHNOLOGY.



Cabinet Mounting Kit: 15Y478

Mounting Template (6)

. 472in.(12000mm) .

5.91 in. (150.00 mm)

e 2.94in. (74.68 mm) —

4X 0 32 in.

(8.00 mm) ~

291 m, 2.94in.

4x 2.0 in.
(51.50 mm) 4X @ 43 in.
/" (11.00 mm)
|
I
|
|
|
l -
|
4.72in.
| (120.00 mm)
|

.~ 2X 3.76 in. (95.40 mm) ——=

All written and visual data contained in this document reflects the latest product information available at the time of publication.
Graco reserves the right to make changes at any time without notice.

This manual contains English. MM 406743
Graco Headquarters: Minneapolis
International Offices: Belgium, China, Japan, Korea

GRACO INC. P.O. BOX 1441 MINNEAPOLIS, MN 55440-1441
Copyright 2009, Graco Inc. is registered to ISO 9001

www.graco.com
Revised October 2014



	Cabinet Mounting Kit: 15Y478
	Mounting Template (6)


